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Math 100:V02 — WORKSHEET 6
EXPONENTIAL AND TRIG FUNCTIONS

1. REVIEW: ARITHMETIC OF DERIVATIVES

(1) Differentiate
(a) (Final, 2016) g(x) = z%¢* (and then also z%")

3°(v) = 9% e + x %X

(b) (Final, 2016) h(z) = L3

h' () =+ Qx(’.t)r )~ (x%3) - 2 AxL Q% - 6
L Px-D? T T@xone
=9 XX~ =2 (Ractor foter ul\w f o, fo)

X-1)

(2) Let f(x) = %. Given that f'(4) =

quadratic equation for A.

¥l - (R+A-% o= (x> A gt’nl F

16, give a

(ﬁ +A’)?- = (\-ﬁ\‘_\,ﬁ)l \1#0«,;%& g_L)?M as an
n o -1308  an An 4 F Vo fr s

[32A)* = (AvD)? (Au)? )€

5(A%+afrq) =66 S 2A=4A-g=0

So A = 4“{;5:?' 45-6——?=2,-—3/3 esalwfvﬁ
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(3) Suppose that f(1) =1, g(1) =2, f'(1) =3, ¢'(1) =
4.
(a) What are the linear approximations to f and g at
x = 17 Use them to find the linear approximation
to fg at x = 1.

PG w £ + £6) () < | + 3(x-1)
99 2 A+ 4-(x-1)
% 0990w (1> 30x-0)(2ralx 1) = 1-2 + (3:921a) (x -1)+ 1A(x-)*
2 J+100x-~) +Rlx-N*% A+]lolx -
Covvach Jo I order
6 ($9) (1> btyg )+ 209M)=3a+-42)0
F91C = F 90N = 1'22 2 N Lorpanles Swh a0

(b) Find (fg) (1) and (L) (1). ¥rodweh vl Sum 7uly .
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2. EXPONENTIALS

(5) Simplify
(a) (65)37 (21/3)127 735
| 0] A ~n
e'g 24; It 3

(b) 1og(106 log(37).= ‘4[09 2
'('3(10) » dos(ef) = os lo »5

(6) Differentiate:

(a) 107 dd; (129 ?dm lo)- 1o~

(h) & 107 422 \uﬁ‘ o Y'“l"e

3¥+1

d (g\eyl I i (30 ~Le9O o (8)
JX( g‘ 3l ) 2
Rheﬂt [3 ‘H)
,@*i«o dx2)(3%) (16" ) (5 w-fl)
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3. TRIGONOMETRIC FUNCTIONS
(7) (Special values) What is sin 7 What is cos 27

(8) Derivatives of trig functions

(a) Interpret limy,_q % as a derivative and find its

value.

(b) Differentiate tan § = 512,

cos



(9) What is the equation of the line tangent the graph
y = T'sinx + cosx at the point where x = 77



